Customer Service

1-888-805-9837

www.schlage.com

dEh

|

W
ALLEGION

© Allegion 2017
111828 Rev. 09/17

USE AND CARE GUIDE

J STRAP SLIDING DOOR HARDWARE
8’ Rail Length

\h




4

*s1eak g 1oy saseyaind jeuibio ayy 0} s19848p Hunnjoeynuew Jo 9ai) aq 0} }onpo.d Siy} JueLIRM 3|

a343A0J SI 1lVHM
ALNVHYVM Q3LIAIT HYIA 2

“Buiuado
100p 8U} aA0qE PIeoq J3PEaY € [[B}SUI 0} PAPUBLILIOIDI SI )| W

“IlemA1p ojuo ARoauip e auy [[eisul LON 00 “ONINHYM

Auesepy

“(sal
022) 6 001 St 1onpoud sy} Joj yBiam Bulpeo| wnwixew sy o
“uonerelsul sy}
919|dwo2 oA 810J8q SUOONIISUI [[B PUBJSIAPUN PUB Peal 3Sed|d

uonew.ojuj A}ojes

uoe|jeisu| Buiuueld
uonejejsul-aid

suoisuawi( paiinbay

(Papnjouj JoN) sHed palinbay

papnjou| alempieq

Mm M < <0

pasinbay sjoo|

Palano) 10N st jeym
PaJanoy s 1eum
fRueuep
uoneuw.oju] flajesg
Juaju0y jJo d|qeL

ANNANN N M

SluUalu09 Jo dgel



10

Pre—installation

TOOLS REQUIRED

D
Drill bits
Electric Phillips ) " S
Drill Level screwdriver Pencil -3/16 Drill bits
Siem | 3
28 mm) (10 mm)
- \ ”
5= Wrench and Router Q — 3/8
socket set (If using Floor G- T (10 mm)
Guide @) Level
PLUG (x4) ALLEN WRENCH(x1)
6] (3/32")2.5mm D
'
B .
(x2) (x1) (x1) (f
ANTI-JUMP BLOCK TEJ@B&EW CUSHIONED STOP, LEFT  CUSHIONED STOP, RIGHT l&)\@
@
T N - \ STAN(DéDFF (x6)
/ \ / \ |
I | { | } NUT (x4) 7 |
| |
! [ S - @) « } )
I 1) } I 1) } | WASHER, 8mm (X8) | (Xngeﬂ‘yasmm
| FLOOéGU\DE ‘ | FLOOR GUIDE | } | O] WAS%R x6)
| [ I ar— !
| | ) | @)
| <} } [ — 0 } | SCREW, M10 X 55mm (X2) ‘
| SCREWG2) | | SCREW(d) | | "BOLTS for 35-40mm door !
| ST4.2x35 i | ST42x35 i | |
| | | I | _ ! ANCHOR (x6) SCREW (x6)
: I : [ (o) )Y } 210 M8x90
! ! | SCREW, M10 X 60mm (X2)
: ANCHOR (x2) } : ANCHOR (x4) } | 'BOLTS for 40-45mm door |janGER (x2)}
e e o \___T_____®_ )




* s9j0y |lews au} ul (g) sdea ajoy |eisu] O

sdea ajoy ay Buijeisuj 0 l_

(wweizi)
‘Ul gy

—>

(wwgeyz)
‘U196

'S90BINS JOLIB)X3 UO S|00) Yojelos-uou aspy O
‘uojje||ejsul uosiad-om| O
‘uoije|jejsul BujuuiBaq 210500 SUOIONIISUI [[B MBIABY O

SNOILVANIWNOIFY

“(ww 6g) "ur |
£q Bujuado ayy depsano [jim uomsod uado auy ul J00p v :3LON

(sa1 0z2) 6 001 :3ubiam Buipeo ] wnwixely o

(Www yy - G€) "U1 £')L = | :SS8UXAIYL Jooq

ybiay Buiuado ayy ueyy Jajfey (ww |1G) “ul g aq isnjy :ybiay Jooq ©
(ww 61gk) "ul 8% Jo yipim Buiuado ayy ueyy Japim

(ww 1G) "ut g 8 ISN “winwiXew (Ww 0Lk ) Ul 0§ :YIPIM Jooq O

[m}

"§2e1) J3Y}0 [[ejsul uayy ‘10jdepe Yjim Jo3UU0D §oel) BUO [[ejsu]
“10)depy ¥oeIL 3y} Y)iM SYIe1) OM) J93uU0 ‘Ioop Buied-iq
10§40 ‘wiw g1} Ueyy Jajeasb si ypim Bujuado ay) §f :ILON

SNOISN3INIQ a3dIndaY

*syjoq fie| pue sioyoue onse|d
Buisn [jem 03 Aj39a11p 0k} |[EISUI ISN[ ‘|[BM 3}19U0I 104

*pJeOq BY} [[eISul 0} SMa1os Jouiajul Ajddns 0} paau OS|e [|Im NoA

‘uone|[eIsul sy} a391dwo9d Ajnyssadons o} Japio uj palinbal si ((wwgeyg) ul 96)
(1) %9ed} BU} Se YIBus| BwWes 3y} 0} PaWWLY PIBOq 13PL8Y UBPOOM g X | i

*Bujuado J00p 8y} SAOGE PILO( IBPEAY € [[B}SUI 0} PAPUSWILIOID]
13| “JlemMAIp 0ju0 ARoauIp Yoeu} auy [elsul LON 00 “ONINHVM

(@3an19NI LON) S1HYd 3HIND3IY

(ponunuog) uonejeisy]

‘ (penunuo) uonejeisul-aid



Installation (continued)

Installation

9

Use the instructions below as a remedy
if the Door Stop needs to be installed
inside the Track Fastener.

A Remove door from track.

B Remove the set of fasteners
that were preventing the door
stop from moving into position.

C  Slide the door stop onto the
track, past the hole where the
fasteners were removed.

hanger

Reinstall fasteners, making
sure to keep track level.

Reinstall door. Test to make
sure it slides smoothly.
Position door so it overlaps
the opening by 1" (25 mm).

Slide door stop so it
touches the hanger.
Tighten the set screws
to secure it in place.

track fasteners

> -1

(25 mm)

1 Installing a header board

o Determine the height of your door. Utilize the dimensions in
this step to position the header board.
o Position the header board at the desired location and
use a level to ensure the board is even. Use interior screws
(not included) to secure the header board to wall studs.
o Dimensions:
o X=51 mm minimum on one side of the door
o Y =Door height + 44 mm. This floor clearance
allows for a 9.5 mm space between the door and
the floor.

Y Door
opening

2 " 1 For concrete wall

2

m]

Installing the track

Center the track (1) on the header board and mark the
large hole at one end of the track. Ensure you do not
mark the smaller holes.

Drill a hole where marked and secure the side of the track
(1) using the fasteners.

Mark the center of the large hole on the opposite end of
the track (1). Use a level to ensure the track is even. Drill a
hole and secure the other end of the track using the
fasteners.

Drill into the two center holes in the track and secure the
center of the track to the board using track fasteners

(7 and 8) and spacers (6).




$100}} 8}8J0U0J-U0OU 104

$100]} 81810109 104

apinb Jooy} ajbuIg
(ww 221) ‘w60

apinb Jooy a|gnoq
(ww 2g1) "urgo

]

*100}} 8}310U0D B U0
Ajuo sioyaue as "s1auaise} yym (s)sapinb oo ay} 81nas
*100}4 9} U1 Sajoy [P 0} apInb e se (s)apinb Joojy ayy asn O
*100p 8y} yum ubife pue aul sy}
uo sapinf Joojy ayy Jayuag 100p uado ay} 0} 19S0JD APIS A}
uo ‘Buruado ay} jo abpa ay} woly (Ww 2°Z|) ‘Ul G'g aInsealy O
{013 3U} JJO |[e} J00p By} Buimojie Inoypm
uonysod uado ayy 0} a|qissod se Jey Se J0op Ay} 9pIS O

(s)apinG Jooyy 8y Buljjeisuj 8

“aoe|d

ojur yoeq (g) sasip dwnl-jue Aue ajejoy "yHo} pue ¥oeq

Joop ayy Bupys Aq uonesado yjoows 1oy 1sa] “pajjeIsul

U3YM [9A3] SI 100 BY} 3INSUT *}IeJ} By} uo Joop ay} Buroeyd
uaym Aem sy} Jo 1o (g) sasip dwnl-pue ayy ajejoy O

o4} 8y} uo Joop ay) Huioe|d L

(panunuod) uonejjeisu|

*100p 3y} Jo pua aysoddo ay} oy jeaday O
*100P AU} JO JU0J} B} 0} 1SASOID S| BJ0Y Y} Insu3 “Jabuey
3y} Jo abpa apisul 8y} wouy Aeme (ww |G) "ul g Jo wnwiuw
e ‘J00p auy} jo abpa doy ay} uo (g) %201q dwnl-nue ue jgyuey O

%001q dwn(-jue ays Buljjeisul 9

*(6) Smaias Jabie|

U} asn ‘(Ww i — O) "ul 'L — 9" S1 100p U} i *(6)

SM3JIS JBLIOYS Va1l 8y} asn ‘(ww O — GE) ‘U Q'L — 'L

$aInseaw 1oop ay} 4 "days Siyy oy asn 0} SMalos Jadoid
U} aUIWILYAP 0] J0OP INOA JO SSAUNIIY) BY} BINSB3 O

slabuey ayy Huljeisu| g

‘umoys se sajoy 1ojid Jnoj [jug "awes ay} s abpa

100p 8y} 0} AUBSIP Ay} AINSuA 0} a)e|duua) By} uo Jajni ay}

fuisn 10op ayy Jo puad Jayjo ay uo Jeaday “ajoy au} YJep

*afipa Joop ayy 0} |9]|esed pue woly (ww LG) “ul Z 1sea) e

si (91) ayejdwa} ay) ainsu3 “100p du3 Jo abpa doy auk yum i
ubije pue Joop 8y} Jo Juolj 8y} uo (91) alejdwia) sy} uonisod O

loop ay) Hunredaid ‘V

*an0oJf siy} aJinbai Jou saop apinb Jooj-ajgnoq
*JIN0J B Y)IM 100P AU} JO WOR0q Ay} ul 3A0046 e asiow nok jey)
salnbai apinb Jooyy ajbuis ay) “papnjoul ase suondo apinb ooy om)

(apinb
100}} 916u1s) Joop ayy Huuedaid

(ponunuog) uonejeisuy|



